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AT7A4R3 =a—hriE: v 775 p8l
#include <stdio.h>
#include <math.h>
#define EPS pow(10.0,-8.0) /* epsilon D% E */
#define NMAX 10 /* e RE R */
void newton(double x); /* Newton 15 */
double f(double x); [* fx)DFE */
double df(double x);  /* fR)DFHHE */
int main(void){
double x;
printf("FIHIHE x0 2 A ) L TL 72 &\ ¥n");
scanf("%lf", &x);
newton(x);
return 0;
}
void newton(double x){/* Newton i% */
int n=0; double d;
dot
d=-f(x)/df(x);
x=x+d;
n++;
jwhile(fabs(d)>EPS&&n<NMAX);
if(h==NMAX){
printf("& X 1X Ao FHATLZ¥n";

elsel
printf("& 1% x=%f TJ. ¥n"x);
}
}
I* B o ERE */
double f(double x){
return x-cos(x);
}
double df(double x){
return 1.0+sin(x);
}
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#include <stdio.h>
#include <stdlib.h>
int main(void)
{
int i; double x,y;
FILE *fout;
if((fout=fopen("output.csv”,”w”))==NULL){
printf(’ 7 7 A /LI R o0 0 4 Atoutput.dat ¥n”);
exit(1);
i
for(x=-3;x<=3;x+=0.2){
y=X*X;
fprintfC%If %If¥n”,x,y);
¥
fclose(fout);



output.csv & Excel THIL. T—XDOENPN-BALEZEIRLT, 777 (BAX) Z1ERTD.

-3
-2.8
-2.6
-2.4
-2.2

-2
-1.8
-1.6
-1.4
-1.2

-1
-0.8
—-0.6
-0.4
-0.2

0
0.2
04
0.6
0.8

1

1.2

1.4

1.6

1.8

2
22
24
2.6
2.8

3

7.84
6.76
5.76
4.84

3.24
2.56
1.96
1.44

0.64
0.36
0.16
0.04

0.04
0.16
0.36
0.64

1.44
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2.56
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7.84
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